EOUHULIBI MJTOLYAOMN.
KBAPATHbIN
KUIIOMETP.




50 eanHVU = O OECATKOB.

365 eAHNU = O OECATKOB
eanHnL.
2120 eanHNU = O COTHSA
NecdTKa.

5050 eanHNLU = O ThICAM
eadNHWNLL.




EAVHULUbI NNOLWLAAON

v 1 cm? =100 mm?

v 1 aM*=100 cm?
v 1w =100 w2
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1 AM2 1 cM2

140M2 — 3TO KBagpart 1 CM2 — 3TO KBagpart
CO

CO CTOPOHOW 1M CO CTOPOHOM 1 CM



I
1 M2 M2 — 3TO

CO CTOPOHOU 1




3anomMmHu!
]

1M2=100CcM2=10000cC
M2

1AM2=100CM2




[lepeBoa eANHUL, U3MEPEHNS

ONHBI.

2 M? = ... OM?
5M? = ... OM?
18 M? = ... OM?
CM?

200 cM? = ... OM?
CM?
800 cmM? = ... OM?

3 M?=...CM?
9 M? = ... CM?
6 OM? = ...

15 Om? = ...
40 om? = ...



3agada 171 (1)

-

Ha ? 0.

N 180
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1 KM2 1KM2 — 3TO

CTOPOHOMN 1 KM




MM?2 MM2 — 3TO
Bagpar

CO CTOPOHOU 1
MM

1 cM2 = 100MM2



5kM2=5000000Mm2
8CcM2=800MM2
48kM2=48000000Mm2
15cM2=1500MM2

4KM2 120M2=4000120M2
23CM2 20MM2=2320MM2



